XL
E28 X01E

TJAI2[=

TEUHZ : 810, 416, 20, 432, 40, 463, 480, 4100, 140, 4160

O

e
[m
rr

TSRt MIco)

‘3"@':°| x“:-'?'-i‘r%

e
Hu
om

pa)

Ho
ol
i
k)
b1
Lﬁ
ok
4

mio

o0 o0

g S TR

J>|- o o>
\J

F°‘A|7I-O| EH£:+=='.:_

o AHoZ TSEQITE0 XS

|.

© A0y (HFXIZ|H{ A
o L5 S+ UXEIZ LITA0| 30 MBS SWe
oF £57 WM 9IS
SIAIZ A

TJ

F
E*i*

EZE| X0IE 20 © 20 :M8x1.25 =
m:_ju 30 © 25-30 :M10x1.25 AR
2] BEEA 40 © 40 :MI14x15
e o e I Moaeie o o [EHC(EsdRlmEmEgloHe Bl 28
. 100: 100 :M26%1.5 coAmmltAtezal 712E | ZaxE | U 2te
BIHEFE I LIAISA 140 : 125 - 140 : M30% 1.5 __[fidinm)] 4ol 2 | 9| Umm
10 : 10 : M4x0.7 160: 160 :M36x1.5 EEH/LAe 54
16 :16: M5x0.8 #$10, $162 712801 7H5ELIC, TJ10 10 |M4x0.7[540050)] - 0.5
TJ16 16 |M5x0.81230.123)] - 0.5
H¥ TJ20 | 20 |m8x1.28 11001.1)| 1100 | 0.5
SR ey TJCI30 | 25 - 30 |M10x1.25) 250(2.5) | 260025) | 0.5
ETE S fg/ 023 e ?OH TJHO | 40 |M14x156006.0)| ¥0kd | 076 |
- == cokgl/em 2 oWre) 7o TJI63 | 50 - 63 |M18x1.5/1100011)| 1100(11) | 1 N
R Jled, Bax
TJ80 | 80 |M22x1.51800(18)] 1800118) | 1.25
TJCI100] 100 |M26x1.52800(28)| 2800028) | 2
TJI140|125 - 140{M30x 1.5/ 5400(54)| #3600036)| 2.5
TJCI160| 160 |M36x1.5[7100(71)] #650065)| 3
xFUAMEIE 38kgf/cm?{3.5MPa) 2| A0l FA| Z/cH QIZIFSE0|L0]| Al
D-27
PNEUMATICS




TJAIE[=

TJ 10~160
M M

|

i
-/ l>}
A\

) M BTV = E R VT

HESEEHE | N g Tam | DA A B S P B zop | mamulesekgikn
10 TJ10 4 0.7 26 9 10 |15 56 (46| 12 7 b 0.5 5.4(0.054)

16 TJ16 b5 0.8 34 | 12 | 14 2 6 [5.6| 16 | 10 7 0.5 12.3(0.123)
20 TJ20 8 1.25 |45 | 15 |16.5| b 7 6 21 13 8 0.5 110(1.1)
25 - 32 TJ32 10 1.25 147 | 17 | 18 (5} 8 8 24 | 17 9 0.5 250(2.5)
40 TJ40 14 1.5 62 | 20 | 22 6 11 11 31 22 13 0.75 600(6.0)
50 - 63 TJ63 18 1.5 75 | 25 | 26 | 6.5] 14 | 13 | 41 27 15 1 1100(11)
80 TJ80 22 1.5 89 | 27 | 29 7 19 | 16 | O | 32 18 1.25 1800(18)
100 TJ100 26 1.5 |110| 34 | 36 | 11 24 | 21 59 | 41 24 2 2800(28)
125 - 140 TJ140 30 1.5 |163| 42 | 46 | 14 | 30 | 22 | 79 | 46 38 25 5400(54)
160 TJ160 36 1.5 |179| 62 | b6 | 16 | 36 | 24 | 96 | bb 42 3 7100(71)

TJF20~40 TJF63~160

L]
\\
\

}—ft L

‘
=
W@\

Hoo|e = e (e e
Lo %% 4-J
(22 : mm)
o M Z|CHLbAL S | FCHAKRIE
Hgdaoy | @y ; i
1 23 | x| LA BC D EIRT Zlo| P | HAIZEU [2tE2kgf(KN)
20 TJF20 8 1256331193648 | 7 |21|13| 6 |6.6 8 0.5 110(1.1)
25-32 TJF32 10 |1.25|36| 25|40 |52 | 8 |24 |17 | 6 |6.6 9 0.5 250(2.5)
40 TJF40 14 15 |50|32 5270113122 9 | 9 13 0.75 440(4.4)
50 - 63 TJF63 18 15 |62| - |45 |65 (134141 |27 12| 9 15 1 1100(11)
80 TJF80 22 1.5 |765| - | 65|75 |16 |50 |32 |16 | 11 18 1.25 1800(18)
100 TJF100| 26 1.5 |94 | - | 65|90 |20 (69541 |19 | 11 24 2 2800(28)
125 - 140 TJF140| 30 1.5 |132| - |82 (125|22 |79 |46 |24 |18 38 25 3600(36)
160 TJF160| 36 1.5 |154| - |100[150| 24 | 96 | 55 | 29 | 22 42 3 5500(55)
_
PNEUMATICS D 28




